<<Fourie [0 >> .o

(1] 000000000 (= f(z4+T)=f(x)000T0000000000 T) 00

O

O000000o00o0o0O0o000O0ooooooooO(oo)ooooooooooom

= 0000000o0o0ad

(1) f(z) = % + a1 coswx + ag cos 2wr + a3 cos Jwx + ... + ap cosnwr + ...

00000 4 by sinwx + by sin 2wz + by sin 3wx + ... + by, sinnwx + ...

o
(2) f(;r:):%-{—Z(ancosnwx—l—bnsinnwx)ﬂDDDDDDDDDDDDDDDDD

n=1

T T
DDDDan:/ f(m)cosnwxda:l]bn:/ fl@)sinnwz de 00000
0 0

(2] 00000f(z)=20 ¢p[x]0000000O000000000000000

=0 GrapesUODOOOOOOODO

YA

DDDDDDDDDDDDDDDDDDDDDD
= (0000000000 (D0oo)boooooo

8]y

a3

02

01

0001 ooz, 00® Lo Osw . ogos
. . et

-01

-02

a3

02

o1

-01

-02

" 0.0os

U 1gboboooboooobooo

0200000000000




